48. Find the time period of small oscillations of the following
systems. (a) A metre stick suspended through the 20 cm
mark. (b) A ring of mass m and radius r suspended
through a point on its periphery. (¢c) A uniform square
plate of edge a suspended through a corner. (d) A
uniform disc of mass m and radius r suspended through
a point /2 away from the centre.



VERMA

| TON ¢ FOR RIGID BopYy MoTION:

£
VL Py M
L SN

L= moment of inertio,

aeout Pofnt af ( CiAA /

Suspensian , /
L= oistance of point of Pl

Suspension from Com

ﬁv metre Sbckr

\«L
AN

K= 50-20= 30cm= d

\ \00 ; I= mA*+ md*
S > COM /?_\ \ d=30cmn
\ T com
\ ‘
l \\\\\‘ F=109cm

Trs 277/mvp'k+mdl

~N ™

mja’f
W= 27| > d = 2n [ + Q-3
~ Psd 2 A/ 12X10x 0.3 10
' - op [0.05?7 » 1.509

=1

" o 1.5/ sec




@) Ilere ez 7-

S,
=5/ I = Rp [20R%
& -l
- 2 /2R
0‘2"_
LS EI777 o »
Py \( Vv
& R .
Vo WALy ™Ml =
L= Rrma?

3

- ST A 2
WaT e




A A AR





{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }

